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int 32 bit
long 64 bit
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® [Language] ®EZAT, [Javal ZESN

Slack — Bring your team together with Slack, the collaboration hub for work.

Language -- select  _1

int main()

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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Command line arguments:

Standard Input: @ Interactive Console O Text
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import java.util. Scanner,; S
public class Main
{

public static void main(String[] args) {
int kingaku, n500, n100, n50, n10, n5, n1;
Scanner s = new Scanner(System.in); B “ " —
System.out.printin("Please Enter kingaku ="); jﬁ /—I_\ hb\b@
kingaku = s.nextInt(); “ —
n500 = kingaku / 500; E gd)w“ 5’7
n100 = ( kingaku % 500 ) / 100;
n50 = ( kingaku % 100 ) / 50; — 1 s
n10 = ( kingaku % 50 )/ 10; =TE
n5 = ( kingaku % 10)/ 5;
nl = kingaku % 5;
System.out.printf("500 en %d mai¥n", n500);
System.out.printf(" 100 en %d mai¥n", n100);
System.out.printf("50 en %d mai¥n", n50); @ B
System.out.printf("10 en %d mai¥n", n10);
System.out.printf("5 en %d mai¥n", n5);
System.out.printf("1 en %d mai¥n", nl);
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Please Enter kingaku =
12687

500 en 25 mai

100 en mal

50 en mal

10 en mal

5 en mal

1 en mal
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System.out.printin("Please Enter kingaku ="); AwvE—>"RR ﬁ

kingaku = s.nextInt(); BT — A T MIAR

n500 = kingaku / 500;

n100 = ( kingaku % 500 ) / 100;
n50 = ( kingaku % 100 ) / 50;
n10 = ( kingaku % 50 ) / 10;

n5 = ( kingaku % 10)/ 5;

nl = kingaku % 5;;

1

&iE:tE

System.out.printf("500 en %d mai¥n", n500);
System.out.printf("100 en %d mai¥n", n100);
System.out.printf("50 en %d mai¥n", n50);
System.out.printf("10 en %d mai¥n", n10);
System.out.printf("5 en %d mai¥n", n5);
System.out.printf("1 en %d mai¥n", nl); 15
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import java.util.Scanner;
public class Main
{
public static void main(String[] args) {

Inty;

Scanner s = new Scanner(System.in);

System.out.printin("Please Enter year =");

y = s.nextint(); 4K
it ((y % 400) == 0) || (((y % 100) !=0) && ((y % 4) == 0))) {
System.out.printf("%d is leap year¥n", y): | =D D ML DIHS
}else { [CERITSNBED

System.out.printf("%d is not leap year¥n", y);
}} SR DT/ RMES
ICRTENZE5 18
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Please Enter year =
2024
2024 is leap year

Please Enter year
2000
2000 is leap year

Please Enter year
1900
1900 is not leap year
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import java.lang.Math;
import java.util. Scanner,;
public class Main

{

public static void main(String[] args) {

int gankin, nensu, ganri,

double nenri, r;

Scanner s = new Scanner(System.in);
System.out.printin("Please Enter gankin (en) =");
gankin = s.nextInt();

System.out.printin("Please Enter nenri (%) =");
nenri = s.nextDouble();
r=1+ (nenri*0.01);

ganri = (int)Math.floor(gankin * Math.pow(r, nensu));

System.out.printin("Please Enter nensu (en) ="); F—iR—RKhHh 5D
nensu = s.nextint(); F—5 Did+ A

5

System.out.printf("ganri = %d (en)¥n", ganri);
System.out.printf("risoku = %d (en)¥n", ganri - gankin);

] 2R R
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Please Enter gankin (en) =
10000

Please Enter nensu (en) =
10

Please Enter nenri (%)
2

ganrli = 12189 (en)
risoku = 2189 (en)
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